EE 381 Electric & Magnetic Fields, lossy RG6 100MHz 570cm.docx 1/2

An RG-6 coaxial transmission line (Zy=75 Q, u =2 x 108 m/s, a. = 9.51 dB/100 m) of length

570 cm is terminated with a load. Using a vector network analyzer (VNA), a load reflection

coefficient of ', =0.5/-44° is measured. The transmission line is connected to a generator
with V, = 36£0° V and Z, = 68 Q operating at 100 MHz. Draw the TL circuit. Then,
determine (a) the attenuation (Np/m), phase (rad/m), & propagation constants, (b) SWR &
load impedance, (c) input reflection coefficient & impedance, (d) phasor input current &
voltage, (e) phasor forward Voltage wave amplitude, and (f) phasor load current & voltage.
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